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BEEEMOE FINAL EXAM 2024-2025

A resistor was connected 1n an electric circuit and readings of the potential difference
between the terminals of the resistor and the current through 1t were recorded in the table next
to 1t. Graphically represent the relationship between potential difference and electric current.

a6 Jlall JLudl 62uiug gléall noyb Ju 281 G0 Wlelyd Gl g alpgs dpld> (6 pgléo Jiog
Wity gupesdl jlidlg 2931 §po Yu ddilall Jio jglaall Jgal (nod las

Potential Difference (V) Current .(A)
(V) 2gJI gJo JLdl 6auu(A)
0 0
- 3
3 4.5
12 5.3
16 S.7

I(A)

> AV (V)

B-Is the wire ohmic resistor? Explain your answer.
bl doo (e o S 13lal g paviuall oglaall nle ogl (Jgild Gubiy JD

C-Refer to your graph 1n section A, calculate the resistance of the wire from the
graph. when the potential difference 1s equal to 6.0 V.

(6.0 V') 2g> 6 Loaic jlgal doglao Luusl (A) i)l (16 ulul Juiaill gu) gg24

Al \

0509886279 [ 2 oloc Jasylauc /i



FINAL

The figure represents a circuit. Calculate the equivalent resistance 1n the circuit.

updJl 81511 16 &solball doglaall cuusl dwyed 64515 J4uill aeg)

50.0 2 10.0
—A\ A~ “MAN~
600V —/ 30.0 €2 20.0
30.0

According to the following electric circuit and the data it contains,
find the reading of the ammeter and the voltmeter.

Jiuailgallg puoll dclyd a>ql, laude ngizd il wllwdlg aull dwgsll 64d1al Laog

1.00 €2 3.00 2

120V

I
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BEEEMOE FINAL EXAM 2024-2025

According to the Figure below an electron 1s travelling at a constant velocity of

v = 5.3 X 10°m/s, then enters a uniform magnetic field B = 8.6 X 1073T that
1s directed 1nto- the page.

Juubligo Jbo J32 @ v = 5.3 X 10°m/saul dcpu ggpisl] &y olsf J4uill og
dxanll Y3l gl asgo B = 8.6 x 1073 T diaui ko

XXXXXXXXXXXXXXXX

XXXXXXXXXXXXXXXX

®—

XXXXXXXXXXXXXXXX

XXXXXXXXXXXXXXXX

—>

B

A-After the electron enters the magnetic field,
calculate the magnitude of the magnetic force acting on the electron.

JopsIYl ke 8158l dpublivall 698l jlado wuus, (uublieall Jall ggpslyl Jgs 2

B-Find the centripetal acceleration of the electron's orbit inside the magnetic field.

Juublieall Juall J31 gopstyl jlaal (njssall gl 23]

C- Find the radius of the electron's orbit inside the magnetic field.

Juublgall Juall 31> ggpsyl jlao jhs wbni axgl

D- what 1s the work done on the charge by the magnetic force. Explain your answer ?

ELol] s duuubligall 6ga)l dbuwlg dissll gule Jguall J2uill bo

N\
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FINAL

A loudspeaker produces sound by exerting a magnetic force on a voice coil 1n a
magnetic field, as shown 1n the Figure below. The movable voice coil 1s
connected to a speaker cone that actually produces the sounds. The magnetic
field 1s produced by the two permanent magnets as shown.The magnitude of the
magnetic force exerted by the magnetic field on the voice coil is 8.0 X 107> N.
The voice coil has a diameter of 6.0 cm, 1s composed of 200 turns of wire, and
the current passing through the coil 1s 4.0 A.

Juwblico Jo (16 tgb wlo (nle duuublieo 696 J @b ye Ugo dgnll pSo i)

2l (e Jgburall ignll pbo boyday & miall wlall Jeiy .olsf J4uill (16 ag0 gd las
2590 99 las uaflall guuubligall JUs (o gruublsall Jhall 2l @iug wlgoll

8.0 X 1073N g (gl wlall (ale uublivall Jall Wy & (il duwublioall 6981 jlago

a5 ubpesdl Ll g (6 cm) o5 g &l (o dal 200 o gugnll Llall ygoiy
. 4.0A)|ba0)

Back plate

4 / f ' ‘ , Top plate

' - Permanent

Voice coil
Speaker cone
(a) (b) (c)

FIGURE Schematic diagram of a loudspeaker: (a) an exploded three-dimensional view of the driver end of the
loudspeaker; (b) a cross-sectional side view of the loudspeaker; (c) a front view of the driver end of the loudspeaker.

Calculate the magnitude of the magnetic field exerted on the voice coil.
Juignll calall (ke 158l (ruublivall Jmall 830 1260 wuus)
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3

4,_1.“.\1\ u\ﬂd‘ il )l La.ul

Wherever necessary, use the following formulas

A o dt
| B (
| ‘ 3
R = p—% Vemf =R Vemf =’Rl y 'RZ:‘REQ
dU=TdAY | opqpetelyYaey (Lsd R=2V
gt RN e = Teml ' T
Rl Rl' RI R.?u I
AV U  idtAV
=== |p=dU_I122V _jay| p-2Y
1 dt dt ]
dU =idt AV D Vemyy = 2_hRe=0 | 0= g1~
j= | =
_ dq _ [ Vems | ,-t/rRC R
bzlf,, =0 f= dr — R {€ q([) - qmn{‘
Ry = ‘E‘LR-.* (1) = .= - | G | F. =qi X E
R 4 .7 s B =1
FB ;_,-E v ﬁ T=Nm = NiABsint
.dﬂ_gﬂldsxr_!u_ﬂldsxr B Tm
4?T rj' 417 r‘z u = X A
o Nm™ | o =—16x10"19C me=9.11 * 10%kg
k=899x10 2 | qe=+16x10"1% my=1.67 ¥ 1077kg

0509886279 ) cocgoincd




